Year 5 Homework, Autumn Term Week 9 1

-

Maths: Speedy Six

V4

382 +12 =

. 762 -32 =

.6x5 =

90 + 10 =

. What are the next two numbers
in the sequence? 5, 10, 15...

6. What is half of 12?

u A wWwN =

VoA wN

6.

AN

7382 + 112 =
762 — 332 =
6x7=

99 =11 =

. What are the next two

numbers in the sequence? 9,
14, 19...
What is 50% (half) of 30?7

Keep practising your times tables. This week we will be looking at the 12s. /

Theme Homework — Due 6t December
Continue your Egyptian project. See the extra sheet for more detailed instructions.

Sgellings \ Optional SPAG guestion (1 housepoint if

completed)
pe n Cl l Read the sentence below. Tick one box to show the pair of pronouns which best completes the
sentence.

fO S S l l Colin keeps boat in the boatyard and sails at the weekend.
nOStrll my | her ]
metal thei  him |
p e d a l his [ it ]
4 its | them ]
animal =

J

Homework is due in on 29t November.



